

Cartesian Product in Neutrosophic Fuzzy Ring

Obbu Ramesh¹, K. Navatha², R. Vijayalakshmi³, B. Aruna Kumari⁴,
V.K. Somasekhar Srinivas^{5*,6*}, Ashfar Ahmed⁷

^{1,2} Department of Mathematics, Presidency University, Bangaluru-560064, Karnataka, India

³ Department of Mathematics_Science and Humanities, Sri Venkateswara College of Engineering (AUTONOMOUS), Tirupati-517507, Andhra Pradesh, India

⁴ Department of Mathematics, Humanities and Basic Sciences, Annamacharya Institute of Technology & Sciences (AUTONOMOUS), Tirupati-517520, Andhra Pradesh, India

⁵ Department of Mathematics, School of Liberal Arts and Sciences, Mohan Babu University, Tirupathi-517102, Andhra Pradesh, India

⁶ Department of Mathematics, Humanities and Basic Sciences, Sree Vidyanikethan Engineering College, Tirupathi-517102, Andhra Pradesh, India

⁷ Department of Mathematics, Malla Reddy Engineering College(A), Hyderabad, Telangana India

Abstract: -Neutrosophic fuzzy set is an extension of fuzzy set and intuitionistic fuzzy set. The algebraic properties of Neutrosophic fuzzy ideals of ring is dispensed in this paper. Further Cartesian product of neutrosophic fuzzy set is defined and examined its ideals.

Keywords: Neutrosophic fuzzy set, ring, neutrosophic fuzzy ring, neutrosophic fuzzy ideals of ring.

1. Introduction

In 1965, Zadeh [1] proposed the notion of fuzzy set. Fuzzy group developed by A. Rosenfeld [2]. Many authors in many directions digged the research in fuzzy sets in many directions. Various algebraic structures like groups, rings, γ rings, γ near rings, semi rings, hyper rings etc., developed in fuzzy set. Further these algebraic structures developing in neutrosophic fuzzy sets has been started. Neutrosophic sets which is a field of philosophy where indeterminacy included. Neutrosophic theory developed by F. Smarandache [7,8] in 1995. Usually, neutrosophic set theory is estimated by three components T, I, F. The neutrosophic set theory have seen great triumph in several fields such as image processing, medical diagnosis, decision making and so on. Then onwards, authors like I Arockarani [15] extended the theory of neutrosophic fuzzy set. K. Hemabala et.al. [9,11,12,13,14] developed theorems in γ near rings, anti neutrosophic fuzzy theorems in γ near rings and medical applications in refined neutrosophic fuzzy logic. Rajan Kumar et.al.[3], Liu[4], Malik [5], Kumbhojkar et.al.[6] developed concepts in fuzzy rings and groups. Further, Agboola A.A.A [10] established neutrosophic groups and sub groups. Based on this literature, we give brief concepts in neutrosophic fuzzy rings and verified some algebraic properties.

2. Preliminaries:

Basic definition of fuzzy set, neutrosophic fuzzy set and fuzzy ring are presented this section.

2.1 Definition: [1]

Let X be a non empty set and μ_v be a fuzzy set defined on X then $\mu_v = X \rightarrow [0, 1]$ such that $\mu_v = \{\mu_v(x) / x \in X\}$

2.2 Definition [7,8]

Let X be a non empty set then neutrosophic fuzzy set F on X is defined as

$$F = \{x ; F_t(x), F_i(x), F_f(x) : x \in X\}$$

Where $F_t(x) : X \rightarrow [0, 1]$, $F_i(x) : X \rightarrow [0, 1]$, $F_f(x) : X \rightarrow [0, 1]$.

Where $F_t(x)$ is truth membership function

$F_i(x)$ is indeterminacy

$F_f(x)$ is false indeterminacy and $0 \leq F_t(x) + F_i(x) + F_f(x) \leq 3^+$

2.3 Definition [7,8]

Let F, G are two neutrosophic fuzzy sets, then we have the following relations and operations.

1. $F \leq G$ iff $F_t \leq G_t, F_i \geq G_i, F_f \geq G_f$
2. $F = G$ iff $F_t = G_t, F_i = G_i, F_f = G_f$
3. $F \cup G = \{x, \max(F_t(x), G_t(x)), \min(F_i(x), G_i(x)), \min(F_f(x), G_f(x)), x \in X\}$
4. $F \cap G = \{x, \min(F_t(x), G_t(x)), \max(F_i(x), G_i(x)), \max(F_f(x), G_f(x)), x \in X\}$

2.4 Definition [3]

A fuzzy set μ_v on a ring R is said to be a fuzzy ring R , all $x, y \in R$ such that

- i) $\mu_v(x - y) \geq \min\{\mu_v(x), \mu_v(y)\}$
- ii) $\mu_v(xy) \geq \min\{\mu_v(x), \mu_v(y)\}$

2.5 Definition [3]

A fuzzy ring μ_v on R is said to be

- i) Fuzzy left ideal, if $\mu_v(xy) \geq \mu_v(y)$ for all $x, y \in R$
- ii) Fuzzy right ideal, if $\mu_v(xy) \geq \mu_v(x)$ for all $x, y \in R$

2.6 Definition [3]

A fuzzy ring μ_v on a ring R is called a fuzzy ideal if it is both a fuzzy left ideal and a fuzzy right ideal.

3 Neutrosophic fuzzy set of ring

In this section we introduced the concept of neutrosophic fuzzy set of ring and developed some related theorems.

3.1 Definition

A neutrosophic fuzzy set F on a ring R is said to be neutrosophic fuzzy sub ring of R if

- i) $F_t(x - y) \geq \min\{F_t(x), F_t(y)\}$
 $F_i(x - y) \leq \max\{F_i(x), F_i(y)\}$
 $F_f(x - y) \leq \max\{F_f(x), F_f(y)\}$

- ii) $F_t(xy) \geq \min\{F_t(x), F_t(y)\}$
 $F_i(xy) \leq \max\{F_i(x), F_i(y)\}$
 $F_f(xy) \leq \max\{F_f(x), F_f(y)\}$

3.2 Definition

A neutrosophic fuzzy ring F on R is said to neutrosophic

- i) Fuzzy left ideal if
 $F_t(xy) \geq F_t(y)$ for all $x, y \in R$
 $F_i(xy) \leq F_i(y)$
 $F_f(xy) \leq F_f(y)$

- ii) Fuzzy right ideal if
 $F_t(xy) \geq F_t(x)$
 $F_i(xy) \leq F_i(x)$

$$F_i(xy) \leq F_i(x)$$

3.2 Definition

A neutrosophic fuzzy set F on R is called a neutrosophic fuzzy ideal if it is a both neutrosophic fuzzy left and right ideal of R .

3.3 Theorem

Let F and G are neutrosophic fuzzy sets. If F, G are neutrosophic left fuzzy ideal of R then $F \cup G$ is also neutrosophic left fuzzy ideal of R .

Proof:

$$\begin{aligned} \text{i)} \quad & (F_t \cup G_t)(x - y) = \max\{F_t(x - y), G_t(x - y)\} \\ & \geq \max\{\min(F_t(x), F_t(y)), \min(G_t(x), G_t(y))\} \\ & \geq \max\{\min(F_t(x), F_t(y), G_t(x), G_t(y))\} \\ & \geq \min\{\max(F_t(x), G_t(x)), \max(F_t(y), G_t(y))\} \\ & \geq \min\{\max(F_t(x), G_t(x)), \max(F_t(y), G_t(y))\} \\ & \geq \min\{(F_t \cup G_t)(x), (F_t \cup G_t)(y)\} \\ & (F_i \cup G_i)(x - y) = \min\{F_i(x - y), G_i(x - y)\} \\ & \leq \min\{\max(F_i(x), F_i(y)), \max(G_i(x), G_i(y))\} \\ & \leq \min\{\max(F_i(x), F_i(y), G_i(x), G_i(y))\} \\ & \leq \max\{\min(F_i(x), G_i(x)), \min(F_i(y), G_i(y))\} \\ & \leq \max\{(F_i \cup G_i)(x), (F_i \cup G_i)(y)\} \\ & (F_f \cup G_f)(x - y) = \min\{F_f(x - y), G_f(x - y)\} \\ & \leq \min\{\max(F_f(x), F_f(y)), \max(G_f(x), G_f(y))\} \\ & \leq \min\{\max(F_f(x), F_f(y), G_f(x), G_f(y))\} \\ & \leq \max\{\min(F_f(x), G_f(x)), \min(F_f(y), G_f(y))\} \\ & \leq \max\{(F_f \cup G_f)(x), (F_f \cup G_f)(y)\} \end{aligned}$$

$$\begin{aligned} \text{ii)} \quad & (F_t \cup G_t)(xy) = \max\{F_t(xy), G_t(xy)\} \\ & \geq \max\{\min(F_t(x), F_t(y)), \min(G_t(x), G_t(y))\} \\ & \geq \max\{\min(F_t(x), G_t(x)), \min(F_t(y), G_t(y))\} \\ & \geq \min\{\max(F_t(x), G_t(x)), \max(F_t(y), G_t(y))\} \\ & \geq \min\{(F_t \cup G_t)(x), (F_t \cup G_t)(y)\} \\ & (F_i \cup G_i)(xy) = \min\{F_i(xy), G_i(xy)\} \\ & \leq \min\{\max(F_i(x), F_i(y)), \max(G_i(x), G_i(y))\} \\ & \leq \min\{\max(F_i(x), G_i(x)), \max(F_i(y), G_i(y))\} \\ & \leq \max\{\min(F_i(x), G_i(x)), \min(F_i(y), G_i(y))\} \\ & \leq \max\{(F_i \cup G_i)(x), (F_i \cup G_i)(y)\} \\ & (F_f \cup G_f)(xy) = \min\{F_f(xy), G_f(xy)\} \\ & \leq \min\{\max(F_f(x), F_f(y)), \max(G_f(x), G_f(y))\} \\ & \leq \min\{\max(F_f(x), G_f(x)), \max(F_f(y), G_f(y))\} \\ & \leq \max\{\min(F_f(x), G_f(x)), \min(F_f(y), G_f(y))\} \\ & \leq \max\{(F_f \cup G_f)(x), (F_f \cup G_f)(y)\} \end{aligned}$$

$$\begin{aligned} \text{iii)} \quad & (F_t \cup G_t)(xy) = \max\{F_t(xy), G_t(xy)\} \\ & \geq \max\{F_t(y), G_t(y)\} \\ & \geq (F_t \cup G_t)(y) \end{aligned}$$

$$\begin{aligned} & (F_i \cup G_i)(xy) = \min\{F_i(xy), G_i(xy)\} \\ & \leq \min\{F_i(y), G_i(y)\} \\ & \leq (F_i \cup G_i)(y) \end{aligned}$$

$$\begin{aligned}
(F_f \cup G_f)(xy) &= \min\{F_f(xy), G_f(xy)\} \\
&\leq \min\{F_f(y), G_f(y)\} \\
&\leq (F_f \cup G_f)(y)
\end{aligned}$$

Hence, $F \cup G$ is a neutrosophic fuzzy left ideal of R .

3.4 Theorem

Let F and G are neutrosophic fuzzy sets. If F, G are neutrosophic right fuzzy ideal of R then $F \cup G$ is also neutrosophic right fuzzy ideal of R .

Proof:

$$\begin{aligned}
\text{i)} \quad (F_t \cup G_t)(x - y) &= \max\{F_t(x - y), G_t(x - y)\} \\
&\geq \max\{\min(F_t(x), F_t(y)), \min(G_t(x), G_t(y))\} \\
&\geq \max \min\{F_t(x), F_t(y), G_t(x), G_t(y)\} \\
&\geq \min \max\{F_t(x), G_t(x), F_t(y), G_t(y)\} \\
&\geq \min\{\max(F_t(x), G_t(x)), \max(F_t(y), G_t(y))\} \\
&\geq \min\{(F_t \cup G_t)(x), (F_t \cup G_t)(y)\} \\
(F_i \cup G_i)(x - y) &= \min\{F_i(x - y), G_i(x - y)\} \\
&\leq \min\{\max(F_i(x), F_i(y)), \max(G_i(x), G_i(y))\} \\
&\leq \min \max\{F_i(x), F_i(y), G_i(x), G_i(y)\} \\
&\leq \max\{\min(F_i(x), G_i(x)), \min(F_i(y), G_i(y))\} \\
&\leq \max\{(F_i \cup G_i)(x), (F_i \cup G_i)(y)\} \\
(F_f \cup G_f)(x - y) &= \min\{F_f(x - y), G_f(x - y)\} \\
&\leq \min\{\max(F_f(x), F_f(y)), \max(G_f(x), G_f(y))\} \\
&\leq \min \max\{F_f(x), F_f(y), G_f(x), G_f(y)\} \\
&\leq \max\{\min(F_f(x), G_f(x)), \min(F_f(y), G_f(y))\} \\
&\leq \max\{\cup(F_f \cup G_f)(x), (F_f \cup G_f)(y)\}
\end{aligned}$$

$$\begin{aligned}
\text{ii)} \quad (F_t \cup G_t)(xy) &= \max\{F_t(xy), G_t(xy)\} \\
&\geq \max\{\min(F_t(x), F_t(y)), \min(G_t(x), G_t(y))\} \\
&\geq \max \min\{F_t(x), G_t(x), F_t(y), G_t(y)\} \\
&\geq \min\{\max(F_t(x), G_t(x)), \max(F_t(y), G_t(y))\} \\
&\geq \min\{(F_t \cup G_t)(x), (F_t \cup G_t)(y)\} \\
(F_i \cup G_i)(xy) &= \min\{F_i(xy), G_i(xy)\} \\
&\leq \min\{\max(F_i(x), F_i(y)), \max(G_i(x), G_i(y))\} \\
&\leq \min \max\{F_i(x), G_i(x), F_i(y), G_i(y)\} \\
&\leq \max\{\min(F_i(x), G_i(x)), \min(F_i(y), G_i(y))\} \\
&\leq \max\{(F_i \cup G_i)(x), (F_i \cup G_i)(y)\} \\
(F_f \cup G_f)(xy) &= \min\{F_f(xy), G_f(xy)\} \\
&\leq \min\{\max(F_f(x), F_f(y)), \max(G_f(x), G_f(y))\} \\
&\leq \min \max\{F_f(x), G_f(x), F_f(y), G_f(y)\} \\
&\leq \max\{\min(F_f(x), G_f(x)), \min(F_f(y), G_f(y))\} \\
&\leq \max\{(F_f \cup G_f)(x), (F_f \cup G_f)(y)\}
\end{aligned}$$

$$\begin{aligned}
\text{iii)} \quad (F_t \cup G_t)(xy) &= \max\{F_t(xy), G_t(xy)\} \\
&\geq \max[F_t(x), G_t(x)] \\
&\geq (F_t \cup G_t)(x)
\end{aligned}$$

$$\begin{aligned}
(F_i \cup G_i)(xy) &= \min\{F_i(xy), G_i(xy)\} \\
&\leq \min\{F_i(x), G_i(x)\} \\
&\leq (F_i \cup G_i)(x)
\end{aligned}$$

$$(F_f \cup G_f)(xy) = \min\{F_f(xy), G_f(xy)\}$$

$$\begin{aligned} &\leq \min\{F_f(x), G_f(x)\} \\ &\leq (F_f \cup G_f)(x) \end{aligned}$$

Hence, $F \cup G$ is a neutrosophic fuzzy right ideal of R .

3.5 Theorem

Let F and G are neutrosophic fuzzy sets. If F, G are neutrosophic left fuzzy ideal of R then $F \cap G$ is also neutrosophic left fuzzy ideal of R .

Proof:

$$\begin{aligned} \text{i)} \quad &(F_t \cap G_t)(x - y) = \min\{F_t(x - y), G_t(x - y)\} \\ &\geq \min\{\min(F_t(x), F_t(y)), \min(G_t(x), G_t(y))\} \\ &\geq \min \min\{F_t(x), F_t(y), G_t(x), G_t(y)\} \\ &\geq \min \min\{F_t(x), G_t(x), F_t(y), G_t(y)\} \\ &\geq \min\{\min(F_t(x), G_t(x)), \min(F_t(y), G_t(y))\} \\ &\geq \min\{(F_t \cap G_t)(x), (F_t \cap G_t)(y)\} \end{aligned}$$

$$\begin{aligned} &(F_i \cap G_i)(x - y) = \max\{F_i(x - y), G_i(x - y)\} \\ &\leq \max\{\max(F_i(x), F_i(y)), \max(G_i(x), G_i(y))\} \\ &\leq \max \max\{F_i(x), F_i(y), G_i(x), G_i(y)\} \\ &\leq \max\{\max(F_i(x), G_i(x)), \max(F_i(y), G_i(y))\} \\ &\leq \max\{(F_i \cap G_i)(x), (F_i \cap G_i)(y)\} \\ &(F_f \cap G_f)(x - y) = \max\{F_f(x - y), G_f(x - y)\} \\ &\leq \max\{\max(F_f(x), F_f(y)), \max(G_f(x), G_f(y))\} \\ &\leq \max \max\{F_f(x), F_f(y), G_f(x), G_f(y)\} \\ &\leq \max\{\max(F_f(x), G_f(x)), \max(F_f(y), G_f(y))\} \\ &\leq \max\{\cup(F_f \cap G_f)(x), (F_f \cap G_f)(y)\} \end{aligned}$$

$$\begin{aligned} \text{ii)} \quad &(F_t \cap G_t)(xy) = \min\{F_t(xy), G_t(xy)\} \\ &\geq \min\{\min(F_t(x), F_t(y)), \min(G_t(x), G_t(y))\} \\ &\geq \min \min\{F_t(x), G_t(x), F_t(y), G_t(y)\} \\ &\geq \min\{\min(F_t(x), G_t(x)), \min(F_t(y), G_t(y))\} \\ &\geq \min\{(F_t \cap G_t)(x), (F_t \cap G_t)(y)\} \end{aligned}$$

$$\begin{aligned} &(F_i \cap G_i)(xy) = \max\{F_i(xy), G_i(xy)\} \\ &\leq \max\{\max(F_i(x), F_i(y)), \max(G_i(x), G_i(y))\} \\ &\leq \max \max\{F_i(x), G_i(x), F_i(y), G_i(y)\} \\ &\leq \max\{\max(F_i(x), G_i(x)), \max(F_i(y), G_i(y))\} \\ &\leq \max\{(F_i \cap G_i)(x), (F_i \cap G_i)(y)\} \end{aligned}$$

$$\begin{aligned} &(F_f \cap G_f)(xy) = \max\{F_f(xy), G_f(xy)\} \\ &\leq \max\{\max(F_f(x), F_f(y)), \max(G_f(x), G_f(y))\} \\ &\leq \max \max\{F_f(x), G_f(x), F_f(y), G_f(y)\} \\ &\leq \max\{\max(F_f(x), G_f(x)), \max(F_f(y), G_f(y))\} \\ &\leq \max\{(F_f \cap G_f)(x), (F_f \cap G_f)(y)\} \end{aligned}$$

$$\begin{aligned} \text{iii)} \quad &(F_t \cap G_t)(xy) = \min\{F_t(xy), G_t(xy)\} \\ &\geq \min\{F_t(y), G_t(y)\} \\ &\geq (F_t \cap G_t)(y) \end{aligned}$$

$$\begin{aligned} &(F_i \cap G_i)(xy) = \max\{F_i(xy), G_i(xy)\} \\ &\leq \max\{F_i(y), G_i(y)\} \end{aligned}$$

$$\leq (F_i \cap G_i)(y)$$

$$\begin{aligned} (F_f \cap G_f)(xy) &= \max \{F_f(xy), G_f(xy)\} \\ &\leq \max \{F_f(y), G_f(y)\} \\ &\leq (F_f \cap G_f)(y) \end{aligned}$$

Hence, $F \cap G$ is a neutrosophic fuzzy left ideal of R .

3.6 Theorem

Let F and G are neutrosophic fuzzy sets. If F, G are neutrosophic right fuzzy ideal of R then

$F \cap G$ is also neutrosophic right fuzzy ideal of R .

Proof:

$$\begin{aligned} \text{i) } (F_t \cap G_t)(x - y) &= \min \{F_t(x - y), G_t(x - y)\} \\ &\geq \min \{ \min(F_t(x), F_t(y)), \min(G_t(x), G_t(y)) \} \\ &\geq \min \min \{F_t(x), F_t(y), G_t(x), G_t(y)\} \\ &\geq \min \min \{(F_t(x), G_t(x)), (F_t(y), G_t(y))\} \\ &\geq \min \{ \min(F_t(x), G_t(x)), \min(F_t(y), G_t(y)) \} \\ &\geq \min \{(F_t \cap G_t)(x), (F_t \cap G_t)(y)\} \\ (F_i \cap G_i)(x - y) &= \max \{F_i(x - y), G_i(x - y)\} \\ &\leq \max \{ \max(F_i(x), F_i(y)), \max(G_i(x), G_i(y)) \} \\ &\leq \max \max \{F_i(x), F_i(y), G_i(x), G_i(y)\} \\ &\leq \max \{ \max(F_i(x), G_i(x)), \max(F_i(y), G_i(y)) \} \\ &\leq \max \{(F_i \cap G_i)(x), (F_i \cap G_i)(y)\} \\ (F_f \cap G_f)(x - y) &= \max \{F_f(x - y), G_f(x - y)\} \\ &\leq \max \{ \max(F_f(x), F_f(y)), \max(G_f(x), G_f(y)) \} \\ &\leq \max \max \{F_f(x), F_f(y), G_f(x), G_f(y)\} \\ &\leq \max \{ \max(F_f(x), G_f(x)), \max(F_f(y), G_f(y)) \} \\ &\leq \max \{ \cup(F_f \cap G_f)(x), (F_f \cap G_f)(y) \} \end{aligned}$$

$$\begin{aligned} \text{ii) } (F_t \cap G_t)(xy) &= \min \{F_t(xy), G_t(xy)\} \\ &\geq \min \{ \min(F_t(x), F_t(y)), \min(G_t(x), G_t(y)) \} \\ &\geq \min \min \{F_t(x), G_t(x), (F_t(y), G_t(y))\} \\ &\geq \min \{ \min(F_t(x), G_t(x)), \min(F_t(y), G_t(y)) \} \\ &\geq \min \{(F_t \cap G_t)(x), (F_t \cap G_t)(y)\} \end{aligned}$$

$$\begin{aligned} (F_i \cap G_i)(xy) &= \max \{F_i(xy), G_i(xy)\} \\ &\leq \max \{ \max(F_i(x), F_i(y)), \max(G_i(x), G_i(y)) \} \\ &\leq \max \max \{F_i(x), G_i(x), (F_i(y), G_i(y))\} \\ &\leq \max \{ \max(F_i(x), G_i(x)), \max(F_i(y), G_i(y)) \} \\ &\leq \max \{(F_i \cap G_i)(x), (F_i \cap G_i)(y)\} \end{aligned}$$

$$\begin{aligned} (F_f \cap G_f)(xy) &= \max \{F_f(xy), G_f(xy)\} \\ &\leq \max \{ \max(F_f(x), F_f(y)), \max(G_f(x), G_f(y)) \} \\ &\leq \max \max \{F_f(x), G_f(x), (F_f(y), G_f(y))\} \\ &\leq \max \{ \max(F_f(x), G_f(x)), \max(F_f(y), G_f(y)) \} \\ &\leq \max \{(F_f \cap G_f)(x), (F_f \cap G_f)(y)\} \end{aligned}$$

$$\begin{aligned} \text{iii) } (F_t \cap G_t)(xy) &= \min \{F_t(xy), G_t(xy)\} \\ &\geq \min \{F_t(x), G_t(x)\} \\ &\geq (F_t \cap G_t)(x) \end{aligned}$$

$$(F_i \cap G_i)(xy) = \max \{F_i(xy), G_i(xy)\}$$

$$\leq \max\{F_i(x), G_i(x)\}$$

$$\leq (F_i \cap G_i)(x)$$

$$(F_f \cap G_f)(xy) = \max\{F_f(xy), G_f(xy)\}$$

$$\leq \max\{F_f(x), G_f(x)\}$$

$$\leq (F_f \cap G_f)(x)$$

Hence, $F \cap G$ is a neutrosophic fuzzy right ideal of R .

3.7 Definition

Let F and G are two neutrosophic fuzzy sets in R & S . Then two Cartesian product of F & G is defined by $F \times G = \{(x,y); \min(F_t(x), G_t(x)), \max(F_i(x), G_i(x)), \max(F_f(x), G_f(y)) / (x,y) \in R \times S\}$

3.8 Theorem

If F & G are two neutrosophic fuzzy left & right ideals of R & S then $F \times G$ is also neutrosophic fuzzy left and right ideals of $R \times S$

Proof:

$$i) \quad (F_t \times G_t)((x_1, x_2) - (y_1, y_2)) = (F_t \times G_t)(x_1 - y_1, x_2 - y_2)$$

$$= \min\{F_t(x_1 - y_1), G_t(x_2 - y_2)\}$$

$$\geq \min\{\min(F_t(x_1), F_t(y_1)), \min(G_t(x_2), G_t(y_2))\}$$

$$\geq \min\{\min(F_t(x_1), G_t(x_2)), (F_t(y_1), G_t(y_2))\}$$

$$\geq \min\{\min(F_t(x_1), G_t(x_2)), \min(F_t(y_1), G_t(y_2))\}$$

$$\geq \min\{(F_t \times G_t)(x_1, x_2), (F_t \times G_t)(y_1, y_2)\}$$

$$(F_i \times G_i)((x_1, x_2) - (y_1, y_2)) = (F_i \times G_i)(x_1 - y_1, x_2 - y_2)$$

$$= \max\{F_i(x_1 - y_1), G_i(x_2 - y_2)\}$$

$$\leq \max\{\max(F_i(x_1), F_i(y_1)), \max(G_i(x_2), G_i(y_2))\}$$

$$\leq \max\{\max(F_i(x_1), F_i(y_1), G_i(x_2), G_i(y_2))\}$$

$$\leq \max\{\max(F_i(x_1), G_i(x_2)), \max(F_i(y_1), G_i(y_2))\}$$

$$\leq \max\{(F_i \times G_i)(x_1, x_2), (F_i \times G_i)(y_1, y_2)\}$$

$$(F_f \times G_f)((x_1, x_2) - (y_1, y_2)) = (F_f \times G_f)(x_1 - y_1, x_2 - y_2)$$

$$= \max\{F_f(x_1 - y_1), G_f(x_2 - y_2)\}$$

$$\leq \max\{\max(F_f(x_1), F_f(y_1)), \max(G_f(x_2), G_f(y_2))\}$$

$$\leq \max\{\max(F_f(x_1), F_f(y_1), G_f(x_2), G_f(y_2))\}$$

$$\leq \max\{\max(F_f(x_1), G_f(x_2)), \max(F_f(y_1), G_f(y_2))\}$$

$$\leq \max\{(F_f \times G_f)(x_1, x_2), (F_f \times G_f)(y_1, y_2)\}$$

$$ii) \quad (F_t \times G_t)(x_1 y_1, x_2 y_2) = \min\{F_t(x_1 y_1), G_t(x_2 y_2)\}$$

$$\geq \min\{\min(F_t(x_1), F_t(y_1)), \min(G_t(x_2), G_t(y_2))\}$$

$$\geq \min\{\min(F_t(x_1), G_t(x_2)), (F_t(y_1), G_t(y_2))\}$$

$$\geq \min\{\min(F_t(x_1), G_t(x_2)), \min(F_t(y_1), G_t(y_2))\}$$

$$\geq \min\{(F_t \times G_t)(x_1, x_2), (F_t \times G_t)(y_1, y_2)\}$$

$$(F_i \times G_i)(x_1 y_1, x_2 y_2) = \max\{F_i(x_1 y_1), G_i(x_2 y_2)\}$$

$$\leq \max\{\max(F_i(x_1), F_i(y_1)), \max(G_i(x_2), G_i(y_2))\}$$

$$\leq \max\{\max(F_i(x_1), G_i(x_2)), (F_i(y_1), G_i(y_2))\}$$

$$\leq \max\{\max(F_i(x_1), G_i(x_2)), \max(F_i(y_1), G_i(y_2))\}$$

$$\leq \max\{(F_i \times G_i)(x_1, x_2), (F_i \times G_i)(y_1, y_2)\}$$

$$(F_f \times G_f)(x_1 y_1, x_2 y_2) = \max\{F_f(x_1 y_1), G_f(x_2 y_2)\}$$

$$\leq \max\{\max(F_f(x_1), F_f(y_1)), \max(G_f(x_2), G_f(y_2))\}$$

$$\leq \max\{\max(F_f(x_1), G_f(x_2)), (F_f(y_1), G_f(y_2))\}$$

$$\leq \max\{\max(F_f(x_1), G_f(x_2)), \max(F_f(y_1), G_f(y_2))\}$$

$$\leq \max\{(F_f \times G_f)(x_1, x_2), (F_f \times G_f)(y_1, y_2)\}$$

$$\begin{aligned} \text{iii) } (F_f \times G_f)(x_1 y_1, x_2 y_2) &= \min\{F_f(x_1 y_1), G_f(x_2 y_2)\} \\ &\geq \min\{F_f(y_1), G_f(y_2)\} \\ &\geq (F_f \times G_f)(y_1 y_2) \end{aligned}$$

$$\begin{aligned} (F_f \times G_f)(x_1 y_1, x_2 y_2) &= \max\{F_f(x_1 y_1), G_f(x_2 y_2)\} \\ &\leq \max\{F_f(y_1), G_f(y_2)\} \\ &\leq (F_f \times G_f)(y_1 y_2) \end{aligned}$$

$$\begin{aligned} (F_f \times G_f)(x_1 y_1, x_2 y_2) &= \max\{F_f(x_1 y_1), G_f(x_2 y_2)\} \\ &\leq \max\{F_f(y_1), G_f(y_2)\} \\ &\leq (F_f \times G_f)(y_1 y_2) \end{aligned}$$

$$\begin{aligned} \text{iv) } (F_f \times G_f)(x_1 y_1, x_2 y_2) &= \min\{F_f(x_1 y_1), G_f(x_2 y_2)\} \\ &\geq \min\{F_f(x_1), G_f(x_2)\} \\ &\geq (F_f \times G_f)(x_1, x_2) \end{aligned}$$

$$\begin{aligned} (F_f \times G_f)(x_1 y_1, x_2 y_2) &= \max\{F_f(x_1 y_1), G_f(x_2 y_2)\} \\ &\leq \max\{F_f(x_1), G_f(x_2)\} \\ &\leq (F_f \times G_f)(x_1, x_2) \end{aligned}$$

$$\begin{aligned} (F_f \times G_f)(x_1 y_1, x_2 y_2) &= \max\{F_f(x_1 y_1), G_f(x_2 y_2)\} \\ &\leq \max\{F_f(x_1), G_f(x_2)\} \\ &\leq (F_f \cap G_f)(x_1, x_2) \end{aligned}$$

References

- [1] L.A. Zadeh, "Fuzzy sets", Inform. And control, 8(1965) PP 338 - 353
- [2] A. Rosenfeld "Fuzzy groups" Journal of Mathematical Analysis and applications. Vol 35. PP. 512 – 517 (1971).
- [3] Dr. Ranjan Kumar, Dr. Kumar Amitabh, A Note on Fuzzy Ideals of Ring, International Journal of Science and Research (IJSR), Volume 9 Issue 8, August 2020
- [4] W. J. Liu "Fuzzy Invariant subgroup and Fuzzy Ideal" Fuzzy set and system vol 8. no. 2 PP. 133 – 139 (1982).
- [5] D. S. Malik, "Fuzzy Ideals of Artinian Rings" Fuzzy sets and system. 37 (1990), 111-115.
- [6] H. V. Kumbhojkar & M.S. Bapat "Not So Fuzzy Ideals" Fuzzy sets and systems, 37(1990) PP, 237 - 243.
- [7] F. Smarandache, Neutrosophic set – a generalization of the Intuitionistic fuzzy sets, J. Pure Appl.Math.,24(2005),287-297
- [8] F. Smarandache, Neutrosophy, A new branch of Philosophy logic in multiple-valued logic, An international journal, 8(3)(2002),297-384.
- [9] K. Hemabala, Srinivasa kumar, Cartesian Product of multi L fuzzy ideals of Γ near ring, Advances in Mathematics: Scientific Journal 9(2020), no.7, 5273-5281.
- [10] Agboola A.A.A, Akwu A.D and Oyebo Y.T., Neutrosophic groups and subgroups, International J. Math. Combin. Vol.3(2012),1-9.
- [11] K. Hemabala, Srinivasa kumar, Anti Neutrosophic multi fuzzy ideals of Γ near ring, Neutrosophic sets and systems, Vol48(2022).
- [12] K. Hemabala, Srinivasa kumar, Neutrosophic multi fuzzy ideals of Γ near ring, Neutrosophic sets and systems, Vol49(2022).
- [13] K. Hemabala, B. Srinivasa kumar, Multi fuzzy ideals of Γ near ring, Journal of Advanced Zoology Volume 44 Issue S-5 Year 2023 Page 108:117

- [14] K. Hemabala, B. Srinivasa kumar, Medical Diagnosis via Refined Neutrosophic Fuzzy Logic, Journal of Advanced Zoology, Volume 44 Issue S-1 Year 2023 Page 15:24
- [15] I. Arockiarani, J.MartinaJency, More on Fuzzy Neutrosophic sets and Fuzzy Neutrosophic Topological spaces, International journal of innovative research and studies,May(2014),vol 3,Issue 5, 643-652.